=Mizhiz\KER
3-jaw draw down power chuck

1. BB REEERKFRRBENEN - BRAREBA LRGN
mI -

2. BUXRGEIHRMEREER L - FRERE - BRENH -

3. BHREGSE  IRBER  IRAEERFNEERBE -

4. EENETERORBHRETHS LZEYE - BERREBENN
ITHEE -

B : mm

a2
OB W W & M OB e ok ox W

DR-06 10
DR-08B 10
DR-10 16
DR-10D 16
DR-12 16

7.2
7.2
11.6
11.6
11.6

15(1530)
25(2549)
35(3569)
35(3569)
44(4487)

25(2549)
45(4589)
60(6118)
60(6118)
71(7240)

2.1(21.4) 3500 15 0.05 MS105C DR-06
2.5(25.5) 3000 25 0.14 MS125C DR-08
3.3(34) 2500 46 0.374 MS125C DR-10
3.3(34) 2500 46.1 0.376 MS125C DR-10
3(30.6) 2000 76 0.88 MS150C DR-12

@35-0165
@40-0210
050-0254
@54-0254
050-0304

R 1

544 33 23 14 4 36 35 M16x2.0 32 335 45 35 35 20 Mex12

DR-06 165
DR-08B 210
DR-10 254
DR-10D 254

DR-12 304

85 140
90 170
110 220
110 220
125 220

104.78 16 6xM10
133.35 15 6xM12
171.45 23 6xM16
171.45 23 6xM16
17145 23 6xM16

58

713 677 38 28 15 5 36 40 M20x25 37 42 56 46 45 25 M8x16

878 82 48 32 226 6.6 46 50 M24x3.0 50 60 686 52.6 85 30 M12x18
9 971 47 31 215 55 50 60 M27x3.0 52 60 725 56.5 100 35 M12x18

102.

5
5
5 854 796 48 32 20 4 46 50 M24x3.0 50 60 66 50 55 30 M8x16
5
5



